AN AIR BRAKES - PARTS

BRAKE
EQUIPMENT

.

[ TEsTBLOCK | [ BRASSTEE | |  STEELTEE |
( =
TESTIBLOCK TEES TEE{SWIVEL
3/8M x 1/4F

Metric Imperial 6 x 6sw x 6
6x6x6 |1/4x1/4x1/4| |8x8swx8

TEsyP'OINT 8x8x8 [3/8Mx3/8Fx3/8F| |10swx10x10

.
Metric 10x10x10 | 3/8 TEE 12swx12x12
M14 12x12x12 | %”INCHHOSE | |[12sw x TEST x 12
M16 15x15x15 | TEE - STEEL
-— 20

M18 16x16 12x3/8x12 UNIS
18x18

Metric Imperial
M10x 8 1/8 x12
b

M12x 8 1/4x12
M14x12 | 3/8x12

3/8 Hose

B

SONILLId =DIvEE 1D @

; / M16 x 12 Y2x12
M22 x 12
) M22 x 15
[ UNION-STEEL | [ UNION-BRASS | | UNION-BRASS | M26 x 12
ALUMINIUMIWASHERS
Metric Imperial e
M6 17 22mm
M10
M12 V2"
M16 14mm
[ ALUMINIUM WASHER | ™, |_COPPERWASHER | [~ o
M26 22mm

(46 p &



	Page 1

